Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

“Which one of the followmng 1 the negation of the statement

“ If Tanweer lives m Lahore then he lives in Palastan. 7 7

Answer | Please select your correct option )

I Tanveer does not live m Lahere then he does not live in Palustan.
P

Tatveer does not live in Lahore then he lives in Pakistan

Tativeer does not live in Lahore and he lives in Paldstan,

If Tanveer lives in Lahore then he does not live in Pakdstan.

Yede By: Weldgelr Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

I "p"and" q" are propostions , " p " 15 true and "q " 15 false, thenp—qis

~

Answer | Please select your correct option )

True

False




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

According to Demorgan’s law
—~lpag)=

~

Answer | Please select your correct option )

‘ hade By: Bagdar Siddhy




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The staternent "He will be the president if and only if he wins the presidential election" is a

~

Answer | Please select your correct option )

Cenditional statement.

Biconditional statement.




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

Ifthe truth values of all premmses and conclusions are true i a cribical row then the argument will be mvalid.

Answer | Please select your correct option )

True

False




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

An argument 15 mvahd of the conclusion 1s false when all the premises are ... .

Answer | Please select your correct option )

False

True




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Let A={1,2,34} and B=(5,67}, then A B=

~

Answer | Please select your correct option )

{1.2,3)
I

15,67

12345867}
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Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Which one of the followmng sets 1s fmte?

~

Answer | Please select your correct option )

Set of Real mumbers
P

Set of Even numbers

(x| x€ £~0<x212)

{x|xej ~x212}
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Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The sets {a, b,c} and {1,2,3} are equal

~

Answer | Please select your correct option )

True

False




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The sets {1,b} and { b,1} are equal

~

Answer | Please select your correct option )

True

False




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A1 of the following sets are equal.
(5,8 {578 %, .5, (s,6,7}

~

Answer | Please select your correct option )

False




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Let B be arelation from set & to B, £' R 15 symmetric then its mverse will be ...

~

Answer | Please select your correct option )

symmetne
L
antisymmetric
C
e
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Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Which of the relation defines a function from X = {2,4,5} to Y={1,2,4,6}.
Ri={24), 4.1

Rz = {(2.4), @.1), (4.2), (5.6}

Rz= {24, @.1. 5.6

| v

Answer | Please select your correct option )

~

Rjand Eo

B

B3

B2 and B3
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Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If A={1,-1} then the number of elements m Ax4 are

~

Answer | Please select your correct option )

2
o
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Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

domain range

| v

Answer | Please select your correct option )

Mot a function
P
One to one function
-~
onto fanction
-
Iany to one finction
(- -
Yede By: Weldgelr Siddhu




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-1 0
0 3
1 15

The above relation shows :

Answer | Please select your correct option )

Mot a function
P

One to one function

onto fanction

Iany to one finction

‘ hade By: Bagdar Siddhy




Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

Let aj,ay,a;,... ., be an arithmetic sequence, then sum of the terms of sequence is

Answer | Please select your correct option )

. SM=§{2a+[m—1)d}
o _nGta)
| I
o _nlata)
& NS
Wade By: Wagdr Siddhu




Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

The general term of the geometne sequence -1,1,-1,1,..... 15

Answer | Please select your correct option )

(1
o

(-

Gy

Cir
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Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Simplfy

(200 <100 = .

~

Answer | Please select your correct option )

02
o

20

0.002

20
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Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Ir

Tritial walue = 200

Final Value = 210

Increase =10

Then the Percentage change ...

~

Answer | Please select your correct option )

10%
o

5%

20%

15%
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Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Ir

Tnihial walue = 12
Final Value = 15
Increase =3

Then the Percentage change............

~

Answer | Please select your correct option )

30%
o

15%

25%

12%
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Question No : 21 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Find x and v ;where

(x+y, 2x)=(2, 6).

~

Answer | Please click here to Add Answer )

|Nurmal LI |Ar\a| LI |12

O E S| e e & e o=

Bl s u|BE=s
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Question No : 22 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Change the mdex k of the followmg summation so that lower lirmt 15 zero mstead of 2.
24

> 7

k=2

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :
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Question No : 23 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Let £ R2R defined as flx)= 9x%*. Show that the fanction 15 well defined.

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :
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O]

~

Marks: 3 (Budgeted Time & Min)

Question No : 24 of 26

Let 4={1273
Determine the relation R such that xRy it x < . Also find the domam and range of the relation

Answer | Please click here to Add Answer )

I | =12

|Nurmal
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Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) =]

Convert the followmng mto factions
{a) 23.75%

(b) 88.5%

-

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :
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Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) =]

Let R be the relation of the set X ={ 1:2:3:5; 6} defined by the equation 5<{x+y <8

(1) Write B as a set of ordered paus.
() Is B reflesave or wreflesave? Justify your answer

-

Answer | Please click here to Add Answer )

O E S| e e & e o=

|Nurmal L”Ar\al L||12 ;I B 7 g‘
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